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And does Rabi Yehudoh- 521> na1am X107 RA™P IARATRA 7707 929 920
maintain that she retains her sanctity, but we learnt, the convert, etc.

Overview

The X3 challenges the ruling of 777 ' that a 72w retains her status of 75¥21 X?,
from a Xn>"32, in which 77177 " rules that a n91°) must wait three months after she
was N1 before she can marry a X% in order to be sure that the child is ¥7m
9% . This proves that when she is among the 0”3, she is 72¥21w np1na. Our MdOIN
discusses this comparison of a 712w to a D,

nooIn asks:
- 199 2NN 1Y SWPIN 19 BX 1ANaYY N1 NNTT XDYAT YD

There is a difficulty, for now that we are comparing a n91 to a 2w, if indeed

it is so that they should be the same, you should ask on our ;73w» itself; why is it -
= M2YY N9 NIYN XY NN 2294

That >''1 does not treat the n91°3 equally with the 7732w -
= NP NaNY N1 N2 ¥IYN NNYITHA NOD Y90 NPTV NMAY 9N NN 229 )IanT

For the mwn taught, *>''1 stated, (only) a 2w who was redeemed, she retains
her sanctity’, indicating that regarding the others (including the n71°3) >"1 agrees
to the ?''n that they do not receive 03p. The question is why is a N1 different from a m12w?!

n190IN answers:
= 0P NY PRY NI NTINT 3V NPT NN PRINNT PNHN 13929 1IN

And the >''% answered that the 712% works out properly according to *"9, for he

agrees that a n9y°3 has no 01p -
- 99NNY NNYT NN RYY NHIYa NYYAIY NYIYA NPIN NOD INT

Since she is certainly 77»w2 npma, for she was n9va1 before she had any

intention to convert -
- "“mx 01 0OV YYY NHa ANNAYN )NAY NNYT Y0 ON ITAN)

And even if she intended to convert from when she was three years and a day old -
= 93¥NNY NN NIINT 1923 AW NIV XD 01PN Yan

Nevertheless, she did not protect herself, not to be Hv21, since she is not capable

"'We are contradicting the case of a 712w, where *"1 stated she is 719¥21 2w npina, with the case of a n71%, where >3
rules that she is 7%y npma, asking why are they different, meaning that they (nv» 7712w) should really be the
same.

% On 2,2 77, which states, INWITRPA X7 71 NYTOIW ANWT M TTI 1) AW DI DANAT DY R 0P 70 PRY DX,

? mpoIn mentions three years, because any relations prior to that does not affect her 79102 status.
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of becoming pregnant while she is a minor, so she does not mind if she is 79v23, therefore
we are sure that she is a 7932, and not a 79103, and therefore no 0Ip -

- NW03 NILIM HAIRY ANYTT 2 HY G DIVTH NYIY PNNNY NDPIXT TN YaN
However, from this ruling that she is required to wait three months to get

married, even though she intends to convert and she guards herself not to have

relations, and -
= £52999 721N 19 NNYY MIYD TYAN INT DIVYTN /) PHNNY NI 9IRP 291 1D99N

Nevertheless >" ruled that she is required to wait three months, because it is

impossible to protect herself from the Gentiles -
$07°2 NN NINY NNAVY )OV Yo

How much more so by a captive, who is delivered into their hands, that she
cannot protect herself from them, so how can >"7 rule that she retains her sanctity?!

Summary
We understand why a n71) is different from a 712w regarding 01p since she does

not mind to be 7%¥21 while she is a 71vp, but since she needs to wait three months
that shows that even a n71°) cannot prevent being 79v21 by the 0”3, so w"> by a
aM2aw.

Thinking it over
nIPOIN writes in his answer "3RS 7nyT7', and nevertheless she has to wait three

months.” Is this concept also assumed in the s'x713 answer that w1 X707 K2 N3,
or in the answer we no longer (need to) assume that >71°°R% 7nY77 some time
before.

* Presumably she thought about this 713 before it took place; even three months prior. See ‘Thinking it over’.
> See footnote # 4.
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